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1. HE= JE—rRKXRYO—)LEEHI= v
2. %= |ECV-EN300DCA
3. HEHT
(HOHBE= M M= 590 kg
QR EE W W=M x 10/1000= 5.90 kN
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OBRAERE :n n= 6 A
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nt= 3 AN
REMEIVERELETOES hG= 59.0 cm
(4)REFT BARDSH =R WFANY = 80.0 cm
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IG=[ 371 Jem (G=1/2)

4. RETEHE
(1 ERETAKEEE :KH KH= 1.5 &35,
(2)ERETHKFEMESN FH FH=KHXW= 8.85 kN
() EZXETHMMEMESN FV FV=1/2xFH= 4.43 kN

(D Toh—HMDIREZYDEIEA :Rb
Rb={FH-hG—(W—FV)-IG}“{I'nt}=[___ 19  |kN
(B)TUN—FK M DIRE-YIZERATHEASN :Q

Q=FH/n=[__ 148 kN
(B)FUh—K WMZET BIEHE

DBI2|RYISHE o 0 =Rb /A= 1.72 |kN/cm?
o=[__172 ]| <ft=[__176 |«N/cm’
QEAMEHE T T =Q/A=| 1.30 [kN/cm?

r=[___130 | <fs=[__ 101 JkN/em’
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fts=14ft—16 T =| 22.6 |kN/cm?

o=[ 172 ] <fis=[ 226 Jkn/om’
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D7Uh-KMELE = FHRERIR, JARRUAYN K AMTE |
@av)-tEEs=[__ 180 _ |mm =[_ 018 [m
QR W DIBHAARS
L=[__128  |mm =[_ 0128 |m
@DFB5IEhETE Ta= 5.6 kN

Ta=[ 56 |kN>Rb=[ 19  |kN
LEDSHELY ., 7Uh-K NI+ DHBREZBELTIVS,

CE)1. REDTETICEWNT, 7Un-N WDEEEATEA TR DNRIYBELGEWRICEEEE
FERALTEZELY,

WAN37-787

(1/1)



